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BEIDEAWD A

B ECEIIREIIIEFEANEILL),

@ 10700g = 10kg 700 g
@ 380t =| 380000 kg

® 29000kg = 29 t
@ 8004g =| 8 kg 4 g
® 108t =| 108000 kg

® lkg 6g = 1006 g
@ 29000g = 29 kg
9t60kg = 9060 kg
@ 200000g = 200 kg
700t = | 700000 kg

@ 5000g = 5 kg
@ 31t =, 31000 kg

/24

@ 30000kg = 30 t
@ 8t670kg = 8670 kg
® lakg =| 14000 g

|0kg 200g = | 10200 g
@ lkg I0g = 1010 g
® 51600kg = 51 t 600 kg
l4t =| 14000 kg

@ 5kg 60g = 5060 g
@ 1650g =| | kg 650 g
@ 1700g =| | kg 700 g
@ 70300kg = | 70 t 300 kg
@ 120t =| 120000 kg




